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500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
42.2 1 o— wE | 224 o— mE | 4227 o— wE | 4267 o INE
42.0 1 42.2 - 42.0 42.4
.81
42.0 41.8 42.2 1
.6
41.8 41.6 42.0
4
41.6 4.4 41.8 -
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
—— uw | %27 o= wmuw 38.754 —@— MW 5.6 —— MW
38.5
38.0 4 38.50 38. 4 -
38. 25 -
38.0 5
37.8 - 38.2
38. 00 - 380 -
37.5
37.6
37.75 - 37.8
37.0
37.4 37. 50 - 37.6
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
38. 75 -
—— MW —— MW —— MW —— MW
38. 4 38.8 - 38. 25 -
38. 50 -
38.2 7 38. 6 38. 00 4
38. 25 -
38. 0 - 38. 4 - 37.75 -
37 8- 38. 00 -
38.2 37. 50 -
37.6 37.75
38.0 37. 25 -
37. 4 37. 50 -
37.8 37. 00 -
690 695 700 720 725 730 810 815 820 870 875 880



hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
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P3-16

TERRHER 2 STEELRT (115.0 :

PRIASEPRIERL94. 0 ml.

B ]| FEBRETIC (FD) | EBE (ZFH/FK) 5 IR
St 0 (0X%) 0 32 KEC: 1560.0, PH: 5.6

94.0), FIREHT—I®% XA155)
ERGEBETAC (210. 0) STEA (111. 0) AFF, FREH T % WREIER S % XER




P3-16_0, Day=2 (2025-04-02)

40 A

20 A

600 4

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

858
56840

33 Warning: lcol [FVI',| "FVO’'] missing 55

. v

FRV

M_E

maxM

400 A

200 A

FRV (ml plant-1)

- 1500

- 1000

- 500

=

- 46

- 42

- 40

1.0
0.8 -
0.6
0.4 -

0.2~

Warning: lcol ["WC1',  "WC2'] missing

2908 1

2000 -
1800

1600 ~

6.5

6.0

5.5 1

600

400

200 -

ET (ml/hr/plant)

TargetEC=1200. 0,  TargetSetEC=1560. 0 —>— ECB*10%

YO —————>—X

Warning: lcol ["ECC'] is missing

—>—  PHB*10%

TargetPH=6. 5, TargetSetPH=5.6

- 2000

- 1000

0 1 2 5 6 17 18 19 20 21 22 23

ET (ml/hr/plant)

600 -

400

200 -

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

| B | B | B BB | BB

2000

ByEt @2 18:08: ET=412 Fg=170150, Ro=nan

- 1000

7 10 17 18 19 20 21 22 23

11

0 1 2 3 16

ET (ml/hr/plant)

600 -

400

200 -

E3
B

ES
5]

E3
B

E3
B

ES
5]

=
B

3

E3
B

B

ES
5]

=
B

E3
B

E3
B

ES
5]

£3

i EZS B

= | B | B

]
ByWoFv @6 03:13: ET=35 Fg=0.0 Ro=0

2000

- 1000

1.0

F'S i = = 2 2
10 11 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

3

E3
5]

B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

0.0

1500 A

1000 ~

500 -

20 -

—_—
o | _obs
—@— PPFD_obs

T obs
To_obs

VPD

- 44 W

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



43

43

43

43

43

41.

41.

41.

41,

41.

41.

40.

40.

39.

39.

38.

38.

—e— ME
46 -
44 -
42 -
40 R T T T T
400 600 800 1000
m=575,m FV0=0
71 —o— MNE
6
.5
4
.3
T T T
575 580 585
m=810,m FV0=0
80 -
75 -
70 -
65 -
- MNE
60 - -
810 815 820
m=420,m FV0=0
07 —o— MW
5 -
0 -
5 -
0 -
5 -
0 .
420 425 430

m=420, FV0=0

—o— ME
46.5 -
46.0 -
45.5 -
T T T
420 425 430
m=630,m FV0=0
2601 o ug
42.55 -
42.50 -
42. 45
42. 40 -
42.35 -
42.30 -
T T T
630 635 640
m=870,m FV0=0
42.30 -
42,25 -
42.20
42.15 -
42.10 - - ME
870 875 880
m=440,m FV0=0
nat _o
41.2 -
41.0 -
40. 8 -
440 445 450

46.

46.

46.

46.

46.

46.

41.

41.

41.

41.

41.

43.

43.

42.

42.

42.

41.

40.

40.

40.

40.

40.

m=440, FV0=0
97 —o— M_E
8 -
7 -
6 -
5 -
4 -
440 445 450
m=690,m FV0=0
47 —o— ME
3 -
2 -
‘] -
0 -
690 695 700
m=940,m FV0=0
27 —o— ME
0 -
8 -
6 .
4 -
940 945 950
m=480,m FV0=0
0l ~® mw
8 .
6 -
4 -
2 -
0 -

484 486 488

m

480 482

46.

46.

46.

45.

41.

41.

41,

40.

40.

40.

38.

38.

38.

38.

38.

38.

38.

41

40 -

39 A

38

37 A

m=480, FV0=0

M_E

484 486
m=720,m FV0=0

T
482 488

M_E

725 730

—— MW

Z 3

600 800 1000

m=579,m FV0=0

400

40 -

35 -

30 A

25 -

20

15 1

10

- MW

575 580 585



m=630, FV0=0

37. 80 A

37.75 A

37.70

37. 65 A

37. 60

37. 55 A

37. 50 A

—0—

M_W

T
630

655 6&0
m=870,n FV0=0

37.3 A

37. 2 -

37.1 1

37.0 -

36.9

—— MW

870

T
875 880

m=690, FV0=0

37. 40 A

37. 35 A

37. 30 A

37. 25 A

37. 20 A

37.15 A

37.10 A

——

M_W

T
690

695 700
m=940,n FV0=0

38.5 A

38.0 -

37.5 A

—o— MW

T
940

T
945 950

m=720, FV0=0
37. 30 A o MW
37. 25
37. 20 A
37.15
37.10 A
T T T
720 725 730

m=810, FV0=0
37.00 A
36. 95 -
36. 90 -
36. 85 A
36. 80 - MW
T T T
810 815 820




